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C
Q.1 | a. | Explain network architecture. 10| L2 | CO1
b. | Explain sliding window algoritt 10 | L2 | CO1
Q.2 | a. | Explain: 10| L2 | CO1
i) Scalable conn
i) Manage
b. | Difference’be 10 | L2 | CO1
i) Ban' vidth and latency
i) Delay and Bandwidth product
Q.3 | a. | Explain Bridges and LAN switches. L2 | CO1
b. L2 | CO1
Q.4 | a. | Explain Class A, : dress. = 10 | L2 | CO1
b. 10| L2 | CO1
Q5 |a Explam how network | ;resented as graph and elaborate on Distance | 10 | L2 | CO2
Vector (RIP) i ;
. | Explain flooding,0 e 10| L2 | CO2
Q.6 | a. | Explain Dljkstra s shortest path algorithm and mention steps involve in this | 10 | L2 | CO2
algorithm. !
b. | Explain : gty 10 | L2 | CO2
1) Address and Routmg
i) Address space allocation
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Q.7 | a. | Explain silly window syndrome and Nagle’s algorithm. 10| L2 | CO2
b. | Explain FIFO and Fair Queuing, 10/ L2 | CO2
Q8 |a. L2 | CO2
b. L2 | CO2
Q9 |a. L2 | CO3
b. L2 | CO3
4 OR ‘&.L -
Q.10 | a. | Explain electronic Mail considering SMTP;POP, IMAP, and MIME. 10| L2 | CO3
ol %maﬁﬁii\;
b. Qurge based congestion Avoidance 10 | L2 | CO3
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